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 Q1. Which of the following statements relating to the law of contract are correct? 
 

1. Both parties to a contract must offer some consideration 
2. The normal remedy awarded by courts for breach of contract is an injunction 
3. People below the age of 18 do not have full contractual capacity 
4. Acceptance of an offer must be communicated to the offeror 

 
A. 2 and 3 only 
B. 1 and 4 only 
C. 1, 2 and 3 only 
D. 1, 3 and 4 only 

 
 
 

Q2. All Time Travel Ltd operates a school contract for the local education authority. Due to 
a temporary shortage of drivers, All Time Travel Ltd subcontracts the work to Web 
Coaches Ltd for one week. On two days Web Coaches Ltd fail to operate the contract 
correctly. Against whom should the local education authority claim for breach of 
contract? 

 
A. All Time Travel Ltd 
B. Web Coaches Ltd 
C. Both All Time Travel Ltd and Web Coaches Ltd 
D. The driver employed by Web Coaches Ltd 

 
 
 

Q3. Under the terms of the Partnership Act 1890, which of the following would result in 
a partnership being dissolved? 

 
1. The mutual consent of all partners 
2. A court ruling 
3. The death or bankruptcy of any partner 
4. The end of an agreed term 

 
 A. 1, 2, 3 and 4 

B. 1, 3 and 4 only 
C. 2 and 3 only 
D. 2 only 

 
 
 

Q4. Which of the following documents must contain a statement that the liability of the 
members of a company is limited? 

 
A. Certificate of Incorporation 
B. Minutes of Directors’ Meetings 
C. Memorandum of Association 
D. Articles of Association 
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Q5. Within what maximum period of time must an employer, on request, give an entitled 
employee a written statement of the reasons for their dismissal? 

 
A. 21 days 
B. 14 days 
C. 28 days 
D. 7 days 

 
 
 
Q6. A company employs 60 staff. With regard to Income Tax (PAYE) and National 

Insurance (NI), which of the following statements is correct? 
 

A. The employer must send the employees’ PAYE contributions and both the 
employer’s and employees’ NI contributions to HM Revenue and Customs 
each year 

B. The employees must send their PAYE and NI contributions to HM Revenue 
and Customs each month 

C. The employer must send the employees’ PAYE contributions to HM Revenue 
and Customs each year 

D. The employer must send the employees’ PAYE and NI contributions and 
the employer’s NI contributions to HM Revenue and Customs each month 

 
 
 
Q7. Employers have a statutory duty to give new employees written statements of their 

main terms and conditions of employment, within a maximum period of 
 

A. 1 week of commencing employment 
B. 1 month of commencing employment 
C. 2 months of commencing employment 
D. 13 weeks of commencing employment 

 

 

 

Q8. Which of the following employees would be entitled to claim redundancy payments? 
 

1. 17 year old with 1 year's service 
2. 21 year old with 18 months’ service 
3. 65 year old with 1 year’s service 
4. 60 year old with 5 years’ service 
5. 20 year old with 2 years’ service 
 
A. 1, 2, 3, 4 and 5 
B. 1 and 3 only 
C. 2, 4 and 5 only 
D. 4 and 5 only 
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Q9. A UK driver subject to EC 561/2006, is undertaking a 14 day tour of Germany and Italy. 
He may drive for a maximum of how many consecutive days before a weekly rest is 
required? 

 
A.   5 
B.   6 
C. 10 
D. 12 

 
 
 
Q10. Under Regulation EC 561/2006, what is the maximum amount of driving time permitted 

over two consecutive weeks? 
 

A.   90 hours 
B.   96 hours 
C. 108 hours 
D. 112 hours 

 
 
 
Q11. Which of the following tunnels connects France with Spain? 
 

A. St Gotthard Tunnel 
B. Mont Blanc Tunnel 
C. Tunnel du Somport 
D. Frejus Tunnel 

 
 
 
Q12. Which one of the following journeys involves a toll payment? 
 

A. Manchester to Glasgow via M61 and M6 
B. Hull to Leicester via M62, M18 and M1 
C. Oxford to Portsmouth via M40, M25 and M3 
D. Chester to Liverpool via M53 

 
 
 
Q13. Which of the following would provide a long term source of funds? 
 

1. Shares 
2. Overdraft 
3. Creditors 
4. Debentures 
5. Retained profits (revenue reserve) 

 
A. 2 and 4 only 
B. 1 and 3 only 
C. 2, 3 and 4 only 
D. 1, 4 and 5 only 
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Q14. Which of the following are long term uses of funds? 
 

1. Fuel and oils 
2. Company vehicles 
3. Debtors 
4. Plant and equipment 

 
A. 2 and 3 only 
B. 2 and 4 only 
C. 1 and 3 only 
D. 1 and 4 only 

 
 
 
Q15. Which of the following sources of finance would be most appropriate for the 

construction of a new maintenance workshop? 
 

A. Debenture 
B. Overdraft 
C. Provision for tax 
D. Creditors 

 
 
 
Q16. Which of the following costs would be shown in a Trading Account? 
 

1. Office staff wages 
2. Electricity and gas costs 
3. Commercial vehicle fuel costs 
4. Commercial vehicle tyre costs 
5. Office stationery costs 
 
A. 3 and 4 only 
B. 1 and 5 only 
C. 1, 3 and 4 only 
D. 2, 3 and 5 only 

   
 
 
Q17. Which of the following items would appear on a company’s balance sheet as current 

liabilities? 
 

1. Share capital 
2. Debtors 
3. Fuel stocks 
4. Creditors 
5. Taxation provision 
 
A. 1, 2 and 4 only 
B. 2 and 3 only 
C. 4 and 5 only 
D. 1, 3 and 5 only 
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Q18. An increase in property rental cost will 
 

A. reduce net profit only. 
B. not have any effect upon profits. 
C. reduce gross profit only. 
D. reduce both net and gross profit. 

 
 
 
Q19. Which of the following are required in order to calculate a company’s acid test ratio? 
 

1. Current assets 
2. Fixed assets 
3. Long term liabilities 
4. Current liabilities 
5. Issued share capital 
6. All stocks 
 
A. 2, 4 and 5 only 
B. 3, 5 and 6 only 
C. 1, 4 and 6 only 
D. 2, 3 and 5 only 

 
 
 
Q20. The total standing costs of a vehicle are £12,000 per annum. The vehicle covers 

40,000km per annum. The running costs of the vehicle are 40p per km.  If the 
operator applies a 20% mark up, the vehicle charge out rate should be: 

 
A. 72p per km 
B. 74p per km 
C. 80p per km 
D. 84p per km 

 
 
 
Q21. Which of the following are covered by insurance which is compulsory for a PSV 

operator? 
 

1. Injury to a passenger on the vehicle 
2. Loss of a passenger’s luggage 
3. Damage to the operator’s vehicle 
4. Damage to a third party vehicle 
 
A. 1 and 4 only 
B. 1, 2 and 4 only 
C. 3 and 4 only 
D. 1 only 
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Q22.  A coach operator has decided to offer package holidays. Which of the following must 

be included in the brochure advertising these holidays? 
 

1. Name of the operator providing the coach 
2. Standard of hotel accommodation being provided 
3. List of places where stops for meals will be made 
4. Details of excursions included in the tour cost 
 
A. 1, 2 and 3 only 
B. 3 and 4 only 
C. 2 and 4 only 
D. 2 and 3 only 

 
 
 
Q23. You are the holder of a Standard International operator licence. Following a vehicle 

breakdown you hire a vehicle (without a driver) from the holder of a Standard National 
operator licence. In terms of operator licensing, which of the following actions must 
you take before using the hired vehicle on a seven day tour to Belgium? 

 
1. Place a notice inside the windscreen stating from whom the vehicle is hired 
2. Carry your original community licence on the hired vehicle 
3. Place your operator licence disc in the windscreen next to the owner’s disc 
4. Remove the owner’s operator licence disc and place your own in the 
 windscreen 
 
A. 4 only 
B. 1 and 4 only 
C. 2 and 3 only 
D. 1, 3 and 4 only 

 
 
 
Q24. Which of the following have a statutory right to object to the granting of an 

International operator licence? 
 

1. Local residents adjacent to the operating centre 
2. Any other operator licence holder 
3. The local transport authority 
4. The police 
 
A. 1, 2, 3 and 4 
B. 1, 3 and 4 only 
C. 3 and 4 only 
D. 1 and 2 only 

 
 
 

Q25. An operator holds a Standard International operator licence that was issued in 
February 2016, with no conditions attached. The Traffic Commissioner must review this 
licence by 

 
A. February 2017. 
B. February 2018. 
C. February 2021. 
D. February 2026. 
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Q26. An operator has six buses available to provide a local bus service. Which of the 

following individual services could he operate with these vehicles? 
 

1. A service with a single journey time of 40 minutes, layover of 5 minutes at each 
terminal and a frequency of every 30 minutes 

2. A service with a single journey time of 40 minutes, layover of 5 minutes at each 
terminal and a frequency of every 10 minutes 

3. A service with a single journey time of 26 minutes, layover of 4 minutes at each 
terminal and a frequency of every 10 minutes 

4. A service with a single journey time of 26 minutes, layover of 8 minutes at each 
 terminal and a frequency of every 10 minutes 
 
A. 1 and 3 only 
B. 1, 2 and 4 only 
C. 1, 3 and 4 only 
D. 2 and 3 only 

 
 
 
Q27. Identify two ‘clock face’ headways from the following. 
 

1.   8 minutes 
2. 15 minutes 
3. 25 minutes 
4. 60 minutes 
 
A. 1 and 2 only 
B. 1 and 3 only 
C. 2 and 4 only 
D. 3 and 4 only 

 
 
 

Q28. Steve Jones Coaches Ltd is operating a private hire from Cardiff to Dijon, France. 
One of the drivers is Steve Jones, the principal shareholder of the business. Apart 
from his driving licence and passport, which of the following personal documents must 
Steve carry with him? 

 
1. Letter of authority to drive 
2. Digital tachograph company card 
3. European Health Insurance Card 
4. Ferry passenger manifest 
5. EU Waybill 

 
A. 1 only 
B. 1 and 2 only 
C. 3 and 4 only 
D. 2, 3 and 5 only 

 
 
 
Q29. Which of the following seating capacities fall within the definition of a ‘minibus’? 
 

A. Driver seat plus eight passengers 
B. Total seating capacity of 18 persons including the driver 
C. A 23-seat vehicle re-certified to a total seating capacity of 15 persons 
D. Rear seating capacity of five, plus two front passenger seats 
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Q30. A coach operator proposes to acquire and operate two 12m-long 53-seat coaches, each 

towing a trailer of 780kg MAM. What is the category of entitlement the drivers of these 
vehicles must hold? 

 
A. Category C only  
B. Category D only 
C. Category B+E  
D. Category D+E  
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Number Answer Syllabus Ref 

1 D A1.1 

2 A A2.1 

3 A B1.4 

4 D B2.2 

5 B C3.2 

6 D C2.1 

7 C C3.1 

8 D C3.2 

9 D C4.1 

10 A C4.1 

11 C D3.5 

12 D D3.1 

13 D E2.1 

14 B E3.2 

15 A E2.1 

16 A E4.2 

17 C E3.2 

18 A E5.1 

19 C E5.1 

20 D E7.1 

21 A E10.4 

22 C E15.1 

23 A F2.1 

24 C F1.4 

25 C F2.2 

26 A F7.5 

27 C F7.4 

28 A F7.9 

29 C G2.1 

30 D H1.1 
 

 


